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1   Introduction
In [1], [2], [3], [4] an evaluation on the solutions so far presented within the Network Based Synchronisation study was presented. This paper presents a TP towards TR36.898 in [1] to capture the evaluation results. 

2   TP to TR36.898
----------------------------------------------------First Change----------------------------------------------------

5.4 
Comparison of solutions

In this section a comparison of solutions 1, solution 2, solution 3 and solution 4 described in section 5.3 is presented with respect to the agreed evaluation criteria.

	
	Solution1
	Solution2
	Solution3
	Solution 4

	Accuracy
	It is not possible to assess if Solution1 fulfils existing requirements because this depends on the accuracy of the synchronisation solution on which Solution1 builds upon. Fulfilment of synchronisation accuracy for Solution1 depends on rate of handover occurrence: if handovers do not occur often enough requirements may not be fulfilled. The accuracy of solution 1 is subject to errors to deduce propagation delays from TA measurement
	Under the assumption that a strong enough synchronisation signal is available, Solution 2 can fulfil existing synchronisation requirements


	It is not possible to assess if Solution3 fulfils existing requirements because this depends on the accuracy of the synchronisation solution on which Solution3 builds upon. Fulfilment of synchronisation accuracy for Solution3 depends on rate of handover occurrence: if handovers do not occur often enough requirements may not be fulfilled. The accuracy of solution 3 is subject to errors to deduce propagation delays from TA measurement and depends on the size of the synchronisation target cell.
	Under the assumption that a strong enough synchronisation signal is available, Solution 4 can fulfil existing synchronisation requirements



	Added Value
	Solution 1 is based on the availability of at least another synchronisation solution that “works”. Therefore, Solution 1 does not address synchronisation scenarios where other solutions do not work 
	In scenarios where RIBS accuracy is poor, Solution 2 solves the problem of synchronisation and allows for improved accuracy thanks to compensation of propagation delays
	Solution 3 is based on the availability of at least another synchronisation solution that “works”. Therefore Solution 1 is not able to work in scenarios where other solutions do not work.


	In scenarios where RIBS accuracy is poor, Solution 4 solved the problem of synchronisation and allows for improved accuracy thanks to compensation of propagation delays

	Availability
	Solution 1 cannot work in a stand-alone way
	Solution 2 can work in a stand-alone way
	Solution 3 cannot work in a stand-alone way
	Solution 4 can work in a stand-alone way

	Triggering of synchronisation updates
	Solution 1 cannot provide synchronisation updates whenever they are needed
	Solution 2 can provide synchronisation updates when needed.
	Solution 3 cannot provide synchronisation updates whenever they are needed
	Solution 4 can provide synchronisation updates when needed.

	Synchronisation signal robustness
	Solution 1 is based on a contention based synchronisation signal that is natively subject to interference and for which reception of the signal may be subject to failure
	Solution 2 relies on cell specific Reference Signals for synchronisation. These signals are designed to be robust but may be subject to interference
	It is not possible to evaluate the robustness of the synchronisation signal of Solution 3 as this depends on the synchronisation solution on which Solution 3 is based.
	Solution 4 relies on cell specific Reference Signals for synchronisation. These signals are designed to be robust but may be subject to interference

	Impacts on network
	Solution 1 has an impact on interfaces due to the introduction of procedures for exchange of timing information. System capacity may be impacted due to detection of in band RACH signals. If propagation delays are compensated the solution has an impact on HO performance and it may have an impact on UE behaviour
	Solution 2 has an impact on interfaces due to the introduction of procedures for exchange of timing information. Solution 2 has no impact on system capacity.
	Solution 3 has an impact on interfaces due to the introduction of procedures for exchange of timing information. Solution 3 has no impact on system capacity.
	Solution 4 has minimum impact on interfaces as it consists of adding one new IE to RIBS signalling. Solution 4 has no impact on system capacity.

	Impacts on eNB
	Solution 1 has an impact on eNB complexity due to the implementation of a new solution requiring changes on the network interfaces and on triggers to air interface procedures
	Solution 2 has an impact on eNB complexity due to the implementation of a new solution requiring changes on the network interfaces. For FDD, solution 2 requires support for reception of DL signals at the eNB while for TDD the solution does not require any changes to the receiver capabilities.
	Solution 3 has an impact on eNB complexity due to the implementation of a new solution requiring changes on the network interfaces
	Solution 4 has minimum complexity because it builds on RIBS, which is already specified, and it consists of adding one new IE to existing signalling. As for RIBS, solution 4 requires support for reception of DL signals at the eNB while for TDD the solution does not require any changes to the receiver capabilities.

	Feasibility
	Solution 1 assumptions are not feasible to ensure continuous required synchronisation. Solution 1 is technically feasible. Solution 1 requires adequate standardisation effort in order to be specified.
	Solution 2 is technically feasible. Solution 2 requires adequate standardisation effort in order to be specified.
	Solution 3 assumptions are not feasible to ensure continuous required synchronisation. Solution 1 is technically feasible. Solution 1 requires adequate standardisation effort in order to be specified.
	Solution 4 is technically feasible. Solution 4 requires adequate standardisation effort in order to be specified.


----------------------------------------------------End of Changes----------------------------------------------------

3   Conclusions
It is proposed to agree to the TP in section 2.
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